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Math Grade 4 Practice 
questions 1 
Term 1 

   

 

 

 

 
 
 

 
 

 

  



 

Question 1  

What is the value of digit 7 in this number:  

5,743 

A  700 

B  70 

C  7 

D  7000 

 

Question 2  

Round the number to the nearest hundred 

3,276 

A  3,200 

B  3,300 

C  3,280 

D  3,270 

 

Question 3  

What is the number in expanded form? 

4,563 

A  4,563 

B 
 4,000 + 500 + 60 + 3 

C  4,563 

D  4,000 + 600 + 50 + 3 



 

Question 4  

What is the greatest and least number can you create using the given 
digits. 

3, 5, 8, and 9 

A 
 

5,983; 9,385 

B 
 

9,538; 3,985 

C 
 

9,853; 3,589 

D 
 

9;853; 5,983 
 

Question 5  

What is the relationship between the values of the underlined digits? 

3,735 

A 
 

3000 is 10 times as much as 30 

B 
 

3000 is 100 times as much as 30 

C 
 

3000 is 1000 times as much as 30 

D 
 

3000 is 10,000 times as much as 30 
 
 

Question 6  

In which number does the digit 2 have a value that is ten times the value of 
the digit 2 in  

12,738 

A  26 

B  215 

C  2,387 

D  23,901 



 

Question 7  

What is the value of each digit in the number  

34,856 

4:   
 
8:   

 
6:   

 
3:   

 
5:   

 

Question 8  

Round to the nearest thousand. 

487,309 

A 
 

500,000 

B 
 

490,000 

C 
 

488,000 

D 
 

487,000 

 

Question 9  

Round to the nearest ten thousand.  

95,550 

A 
 

100,000 

B 
 

96,000 

C 
 

95,000 

D 
 

95,600 

 
 
 
 



 

 

Question 10  

Round to the nearest ten thousand. 

95,550 

A 
 

90,000 

B 
 

100,000 

C 
 

96,000 

D 
 

95,500 

 

Question 11  

Round to the nearest thousands. 

132,847 

A 
 

132,000 

B 
 

132,800 

C 
 

130,000 

D 
 

133,000 

 

Question 12  

Some astronauts will travel to the moon, which is 238,855 from earth. 

About how many miles will the astronauts travel there and back? 

A 
 

240,000 miles 

B 
 

200,000 miles 

C 
 

360,000 miles 

D 
 

480,000 miles 



 

Question 13  

Sara has about 3,000 dirhams in her saving account. What could be the exact 

amount in her saving account? 

A  3,234 

B  1,736 

C  2,258 

D  937 

 

Question 14  

Round to the nearest thousands. 

392,483 

A  391,000 

B  392,000 

C  400,000 

D  393,000 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

  
 

Question 15  

Round to the nearest hundred thousands. 

392, 483 

A  391,000 

B  392,000 

C  400,000 

D  393,000 

 



 

Question 16  

Estimate the sum. 

3,783 + 1,416 

A 
 

5,200 

B 
 

4,200 

C 
 

2,400 

D 
 

2,200 

 
 

Question 17  

Estimate the sum. 

3,155 + 2,205 

A 
 

5,500 

B 
 

6,000 

C 
 

5,400 

D 
 

7,000 

 
 

Question 18  

Estimate the sum. 
Use front-end estimation. 

4,228 + 986 

A 
 

4,500 

B 
 

4,000 

C 
 

4,900 

D 
 

6,000 

 
 



 

Question 19  

Estimate the difference. 

8,303 – 2,789 

A 
 

5,400 

B 
 

5,800 

C 
 

6,200 

D 
 

5,500 

 

Question 20  

Estimate the difference. 
Use front-end estimation. 

9,875 – 4,968 

A 
 

2,000 

B 
 

4,000 

C 
 

5,000 

D 
 

6,000 

 

Question 21  

A school district has 1,578 students last year. This year it has 2,138 students. 
Mahra says that the number of students increased by over 500. Is her 
statement reasonable? 

A 
 

Yes, it is reasonable. 

B 
 

No, it is not reasonable. 

 
 

 
 

 

 
 

 
 

 
 

 

 



 

Question 22  

A business purchased a copier for 
$1,217 and a laptop for $761. How much did the business spend on both 
items? 

A 
 

1,388 

B 
 

1,387 

C 
 

1,978 

D 
 

1,678 

Question 23  

A factory made 64,457 car parts in the first three weeks of the month and 
3,502 car parts in the fourth week of the month. How many car parts did 
the factory make in the four weeks? 

A 
 

67,859 

B 
 

66,959 

C 
 

64,859 

 
 

67,959 

4 

Question 24  

A band is played two concerts with a total attendance of 9,698 people. 
The first concert has 4,467 people is attendance. How many people 
attended the second concert? 

A 
 

5,231 

B 
 

5,387 

C 
 

5,263 

D 
 

5,336 

 

 

 

 

 

 
 



 

Question 25  

A ship studying marine animal populations traveled 1,183 mile on the first 
part of its mission. The ship will travel another 815 miles to complete its 
mission. What is the total distance the ship will travel on this mission? 

A 
 

1,999 

B 
 

1,998 

C 
 

1,110 

D 
 

1,280 
6 

 

Question 26  

A car manufacturer has made 4,569 cars do far this month. They will make 
5,286 more cars this month. 

How many cars will they make this month? 

A 
 

9,835 

B 
 

9,378 

C 
 

9,855 

D 
 

9,385 
 

Question 27  

Zayed had 1,425 trading cards in his collection. He traded many cards and 
now has 395 more cards than he started with. How many trading cards does 
he have now? 

A 
 

1,820 

B 
 

1,388 

C 
 

1,710 

D 
 

1,700 
 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

8 

Question 28  

Find the missing digit. 
 

 

 

A 
 

5 

B 
 

6 

C 
 

7 

D 
 

7 

 

Question 29  

Addie and her family are driving to Florida to see her grandmother. The trip is 
1,387 miles. They drove 365 miles the first day. How many miles are left to 
drive? 

A 
 

1.037 

B 
 

1,022 

C 
 

1,122 

D 
 

1,222 
 

 

Question 30  

A summer camp is building new cabins. They spent $2,789 for wood and tools 
to complete the project. The tools cost $1,024. How much did the summer 
camp spend on wood? 

A 
 

$,1,576 

B 
 

$1,385 

C 
 

$1,765 

D 
 

$1,763 
 

 

 

 

 

 

 

 

 

 

 

 



 

 

Question 31  

Find the missing digit. 

 

A 
 

4 

B 
 

5 

C 
 

6 

D 
 

9 

 

Question 32  

Jamar needs sequins for costumes for a school play. The kings’s costume 
needs 3,250 sequins. The queens’s costume needs 1,750 more sequins than 
the kings’s costume. 
The jester’s costume needs 750 fewer sequins than the queen’s costume. 
How many sequins does Jamar need for all three costumes? 

A 
 

12,380 

B 
 

12,000 

C 
 

12,500 

D 
 

12,389 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Question 33  

There are 550 students eating lunch in four different picnic areas of the zoo. 
How many students are eating lunch at Flamingo Feast? 

 

A 
 

89 

B 
 

95 

C 
 

100 

D 
 

98 

 
 

Question 34  

An art teacher had 140 jars of paint. In the first half of the year, her students 
used 95 jars of paint. The teacher bought 35 more jars of paint. At the end of 
the year, she had 15 unused jars of paint. How many jars of paint did her 
students use in the second half of the year? 

A 
 

63 

B 
 

65 

C 
 

68 

D 
 

62 

 

Question 35  

The cafeteria distributed 940 cartons of milk at breakfast and 1,670 
cartons of milk at lunch. The cafeteria 7,036 cartons of milk at the end of 
the day. How many cartons of milk did the cafeteria have at the beginning 
of the day? 

A 
 

9,389 

B 
 

9,646 

C 
 

384 

D 
 

2,610 

 
 
 



 

Question 36  

An ocean engineer used a sonar system to count fish population of four 
schools of fish. How many fish were counted? 
 
 
 
 
 
 
 
 

A 
 

2,498 

B 
 

2,071 

C 
 

2,389 

D 
 

2,701 

 
 

Question 37  

Which statement can be represented by the equation  

3 x 9 = 27 

A 
 

3 is 3 times as much as 27. 

B 
 

27 is 9 times as much as 9. 

C 
 

3 is 9 times as much as 27. 

D 
 

27 is 3 times as much as 9. 
 

Question 38  

Which statement is true? 

A 
 

9 is 2 times as much as 18. 

B 
 

18 is 2 times as much as 9. 

C 
 

9 is 18 times as much as 2. 

D 
 

2 is 9 times as much as 18. 

 

 

 

Question 39  



 

Which multiplicative statement is correct? 
 
  

A 
 

12 is 3 times as much as 4 

B 
 

3 is 12 times as much as 4 

C 
 

4 is 3 times as much as 12 

D 
 

12 is 12 times as much as 3 

 
 

Question 40  

Which multiplicative statement is correct? 

 

 

 

A 
 

10 is 4 times as much as 2. 

B 
 

10 is 3 times as much as 2. 

C 
 

10 is 5 times as much as 2. 

D 
 

10 is 6 times as much as 2. 

 

Question 41  

What equation can be used to represent the multiplicative comparison 
statement 24 is 4 times as much as 6? 

A 
 

4 + 6 = 24 

B 
 

24 – 6 = 4 

C 
 

24 x 4 = 6 

D 
 

4 x 6 = 24 

 
 
 
 
 
 

Question 42  



 

Sarah and Mark are looking at the equation 450 = 90 x 5. Sarah says it 

means 450 is 90 times as much as 5. Mark says it means 450 is 5 
times as much as 90. Who is correct? 

A 
 

Sarah 

B 
 

Mark 

C 
 

Both are correct. 

 

Question 43  

What statement fits the following representation? 

 

A 
 

61 is 4 times as much as 4. 

B 
 

16 is 3 times as much as 4. 

C 
 

4 is 16 times as much as 4 

D 
 

16 is 4 times as much as 4. 
 
 
 

Question 44  

What equation fits the following representation? 

 

A 
 

6 = 12 x 2 

B 
 

12 = 2 + 6 

C 
 

12 = 2 x 6 

D 
 

6 = 12 + 2 

 
 
 
 
 
 
 
 



 

 
 

Question 45  

Welding fuel comes in bottles of many sizes. The smallest bottle weighs 8 
pounds, and the largest bottle weighs 9 times as much. What equation can 
you write to show how much the largest bottle weighs? 

A 
 

9 x 8 = 72 

B 
 

9 X 8 = 81 

C 
 

9 + 8 = 17 

D 
 

9 + 8 = 18 
 
 

Question 46  

Ahmed plants a garden with 4 tomato plants, 3 times as many pepper 
plants as tomato plants. What equation represents the comparison? 

A 
 

3 x 4 = 15 

B 
 

3 x 4 = 12 

C 
 

3 x 4 = 11 

D 
 

3 + 4 = 7 
 

 

Question 47  

What equation represents the following statement? 

8 more than 4 

A  4 x 8 = 32 

B  4 + 8 = 12 

C  4 x 8 = 12 

D  12 + 4 = 8 

 
 
 
 
 
 
 
 



 

 

Question 48  

What equation represents the following statement? 

5 times as far as 10 miles. 

A 
 

5 + 10 = 15 

B 
 

5 x 10 = 50 

C 
 

5 x 10 = 55 

D 
 

50 x 10 = 5 

 

Question 49  

A small bridge is 40 feet long. A new bridge is 3 times as long as the small 
bridge. How long is the new bridge? 

A 
 

3 x 40 = 120 

B 
 

3 x 40 = 150 

C 
 

3 + 40 = 43 

D 
 

40 – 3 = 37 

 

Question 50  

Mahra has 8 pencils in her school box. Mariam has 4 more pencils than 
Mahra. How many pencils does Mariam have? 

A  
4 x 8 = 32 

B  
8 + 4 = 12 

C  
8 – 4 = 4 

D  
8 ÷ 4 = 2 

 
 
 
 
 
 


